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BN HERE 10 7 3 429
SHEZERE 8 10 -2 -20
SMNEERE 6 13 -7 -53.8
INGERE 3 1 2 200
ﬁ%"jtﬁgggéé 57 29 28 96.6
SREERE 60 58 2 3.4 230
IRHERE 17 14 3 21.4
SNEERE 4 13 -9 -69.2
ABEERE 38 43 -5 -11.6
ELERE 5 8 -3 -375
—2ERE 5 11 -6 -54.5
BEFERE 10 10 0 0
EEH -

a2 A A =L =]

Egi' 'I'J*D7ﬂ£ TJ*DGE i%}jﬁ%& i%i}ﬁ%(%) Iz'R_Fé1$
ENHhhZERE 0 0 0 -
SHEERE 0 0 0 -
SMREERE 0 0 0 -
INGEERE 0 0 0 -
E%"jtﬁzggéé 1 0 1 100
SREERE 0 0 0 - 3
ﬁ&ﬂﬁi 0 1 -1 -100
SMAERE 0 1 -1 -100
n%%$§ 1 0 1 100
ZELERE 0 0 0 -
:3%%% 0 0 0 -
BEFERE 0 0 0 -
SEH -

5L A A =L =]

Eg§ 'I'J*D7ﬂ£ TJﬂ:IGﬂE i%f}ﬁ%ﬂl i%;’lﬁﬁ(%) I/'R-Fé1$
ENHAHERE 13 9 4 44.4
SHEERE 12 13 -1 -7.7
SMRERE 6 14 -8 -57.1
INGERE 4 1 3 300
SMitERE 67 43 24 55.8
SREERE 70 73 -3 -4.1 269
IRHEZERE 18 16 2 12.5
SREERE 4 12 -8 -66.7
ABERE 45 53 -8 -15.1
ELERE 6 10 -4 -40
—EERE 5 13 -8 -61.5
BEFERE 12 15 -3 -20




